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SO NOORLON =

.(-0,34) + (+0,62) + (+0,4) + (-0,07)

Scitani racionalnich cisel

(+8) + (+15) =

(-9) + (-7) =

(-9) + (+15) =

(+26) + (-18) =

(-20) + (-22) =

(+8,5) + (-7,5) =

(+9,72) + (-2,25) =

(-5) + (-0,25) =

(+15) + (-10) + (-23) + (-27) + (-11) =

.(-0,25) + (+0,85) + (+0,3) + (-0,09) =
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(+9) + (+16) =

(-5) +(-6) =

(-8) + (+14) =

(+25) + (-17) =

(-31) + (-32) =

(+3,4) + (-2,4) =

(+8,83) + (-3,23) =

(-6) +(-0,31) =

(+27) + (-23) + (-10) + (-13) + (-11)
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Odcitani racionalnich cisel

(+7)- (+12) =

. (+40) - (-10) =
(-8)-(-23) =

. (-8)-(+10) =

(-33) - (-22) =

. (-17) - (+20) =

(+3 265) - (-6 327) =

. (-0,048) - (-2,02) =
(7,9-4,2) - (5,6-8,9) =
10.(-17,3-0,9) - (0,8-14,4) =
11. (+25) — (-5) — (+40) — (-10) — (-5) =

CONDOA LN

(+8) - (+14) =

. (+80) - (-10) =

(-11)- (-17) =
(-12) - (+14) =
(-19) - (-11) =
(-21) - (+18) =

(+3 542) - (-4 789) =

. (-0,056) - (-3,03) =
(7,9-5,1) - (6,7-8,9) =

10. (-12,6-0,8) - (0,8-12,3) =
11. (+16) — (-6) — (+20) — (-3) — (-5) =
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Scitani racionalnich cisel — reseni

(+8) + (+15) = 8 + 15 = 23

(-5) + (-7)=-5-7 = -12

(-9) + (+15)=-9 + 15=6

(+26) + (-18) = 26 — 18 = 8

(-20) + (-22) = -20 — 22 = -42

(+8,5) + (-7,5) =8,5—7,5= 1

(+9,72) + (-2,25) = 9,72 — 2,25 = 7,47

(-5) + (-0,25) = -5 — 0,25 = -5,25

(+15) + (-10) + (-23) + (-27) + (-11) = 15— 10 — 23 — 27 — 11 = -56

. (-0,25) + (+0,85) + (+0,3) + (-0,09) = -0,25 + 0,85 + 0,3 — 0,09 = 0,81
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(+9) + (+16) =9 + 16 = 25

(-5) + (-6) = -5 — 6 = -11

(-8) + (+14)=-8 + 14 =6

(+25) + (-17) =25 - 17 = 8

(-31) + (-32) = -31 — 32 = -63

(+3,4) + (-2,4) = 3,4 — 2,4 = 1

(+8,83) + (-3,23) = 8,83 -~ 3,23 =56

(-6) + (-0,31) = -6 — 0,31 = -6,31

(+27) + (-23) + (-10) + (-15) + (-11) =27 —23 =10 — 15— 11 = -32

. (-0, 34) + (+o 62) + (+0,4) + (-0,07) =-0,34 + 0,62 + 0,4 — 0,07 = 0,61
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Odcitani racionalnich cisel — reseni

(+7)- (+12)=7-12=-5

(+40) - (-10) = 40 + 10 = 50

(-8) - (-23) = -8 + 23 = 15

(-8) - (+10)=-8 — 10 = -18

(-33) - (-22) = -33 + 22 = -11

(-17) - (+20) = -17 — 20 = -37

(+3 265) - (-6 327) = 3 265 + 6 327 = 9 592
(-0,048) - (-2,02) = - 0,048 + 2,02 = 1,972
(7,9-4,2) - (5,6-8,9) = 3,7 +3,3=7

. (-17,3-0,9) - (0,8-14,4) =-18,2 — (-13,6) =-18,2 + 13,6 = -4,6
. (+25) = (-5) — (+40) — (-10) = (-5) =25+ 5-40 + 10 +5 =5
.(-3,5) = (-4,2) — (+0,9) — (-8,1) = (+9,4) =-35+42-09+8,1-94=-15
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(+8)-(+14)=8-14=-6

(+80) - (-10) =80+ 10 =90
-1)-(-17)=-11+17=6

(-12) - (+14)=-12-14 = -26
-19)-(-11)=-19+ 11 =-8

(-21) - (+18) =-21 - 18 = -39

(+3542)- (-4 789) =3 542 + 4 789 = 8 331
(-0,056) - (-3,03) = -0,056 + 3,03 = 2,974
(7,9-5,1) - (6,7-8,9) =28 +22=5

. (-12,6-0,8) - (0,8-12,3) = -13,4 + 11,5 = -1,9
. (+16) — (-6) — (+20) = (-3) = (-5) =16 +6-20+ 3 +5=10
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